Yrbl

LlykaHoB Makcum
Koanoesa AHacTtacus
NMronuna Kcenuns
LLlaTpoBa ApuHa
3eMnaHCcKun ApceHum



AO=3

OB=6

Yron OAB=90¢
Hauntn yron ABC

3agada Nel




3agada Ne2

* Yron 1=120¢
* Hantmyron 2



* Yron A=65
 Hantun yron B

3agada Ne3




3agada Ne4d

7

A

ABCD — paBHObeapeHHasd Tpaneyms
AB=5

BC=6

AD=12

HanTtu sin ocTporo yrna



3agada Ne5

* Ybl TPEeYrosibHMKa OTHOCATCH Kak 2:9:34

* Hangmte MmeHbLUN Yros




3anada Ne6
- ABC=140° B

» Hantn AOC . [

EblpaeHMBaHWe




3agada Ne7
* Yron BAC=30-
* Yron BCD=100¢
* Hantu yron CAD




3agada Ne8

« ABC -
PAaBHOCTOPOHHUU
TPEYronbHUK

* Yron B=10e
 Hantmn yron 1




